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IVFRARI DY 2 #/101 0 0 0] o 0 0 0] 0 0 0 0] o0 0 0 0] o0 1 0 0 0|0 1 0/ 0
CTINST f#/101 0 0 0lo ~ 0 0 0lo ~ 0 0 0]o 0 0 0] o 1 0 0 0lo 1 0/ 0
ERURCES mS/m 27.3 25.9 26.6 12 30.0 29.1 29.7 12 27.9 26.5 27.3 30.2 27.8 29.0 11 28.4 28.1 28.2 28.7 27.6 28.1 12
K C 19.3 19.0 19.2 19.5 18.9 19.3 12 18.6 18.0 18.3 19.6 18.5 19.1 11 17.3 16.8 17.0 20.0 18.7 19.4 12
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R ko H O BRSO R (@ oK 5 &)

o 7K 5 It o 1K S (k) o 20K (##7K) FHAR DS el K 35 (#K)
AT H ggﬁ;i{fﬁ e KA s/ME SEEME EER JEF N s/ ME SEEIE EER NE 5/ ME BN [EIREES
NELAT

— A 100 /ml 0 0 0l o0 712 0 0 ol o 712 0 0 0l o0 712
RIGEE frHENARN L AR N TR 0 12 AR AR HY TR 0 12 AR HY AR HY AR 0 12
HEIT LK OZDILEY 0.003 mg/l [< 0.0003 [< 0.0003 [< 0.0003] 0 ~ 1< 0.0003 [< 0.0003 [< 0.0003] 0 ~ 1] 0.0003 [< 0.0003 [< 0.0003| 0 7 1
KER K NG 0.0005 /1 < 0.00005 [< 0.00005 [< 0.00005 | 0 7 1] 0.00005 [< 0.00005 [< 0.00005 | 0~ 1[< 0.00005 [< 0.00005 [< 0.00005 | 0/ 1
LR OZEDILEY 0.0l _» < 0.001 [< 0.001 [< 0001 0 / 1| 0.001 [< 0.001 [< 00010 / 1[K 0.001 [< 0.001 [< 0.001{ 0 / 1
& DAY 0.01 _» < 0.001 [< 0.001 [< 0001 [ 0 / 1k 0.001 [< 0.001 [ 0.001 | 0 ~ 1< 0.001 [< 0.001 [ 0.001 | 0 / 1
EZ K OZDOILEY 0.0l » < 0.001 [< 0.001 [< 0001 [0 7 1k 0.001 [< 0.001 [< 0.001 [0 7 1[K 0.001 [< 0.001 [< 00010 7 1
N A= e /) 0.05 _» < 0.002 [< 0.002 [< 0.002[ 0 / 1k 0.002 [< 0.002 [< 0.002] 0/ 1< 0.002 [< 0.002 [< 0.002| 0 / 1
A FRRE 22 57 0.04 7 < 0.004 [< 0.004 [< 0.04] 0 / 1K 0.004 [< 0.004 [< 0.04] 0 / 1]« 0.004 [< 0.004 [< 0.004] 0 7 1
ST AAT KO T [0.01 0 < 0.001 [< 0.001 [< 0.001[ 0 / 4K 0.001 [< 0.001 [ 0.001{ 0 / 4] 0.001 [< 0.001 [< 0.0001{ 0 / 4
THFEREZE R L OV FAREZE R 10 [ 4.84 3.95 4340 712 5.55 4.48 4871 0 712 6.21 5.18 5431 0 712
79 M OZDIEY 08 < 0.05 [< 0.05 [< 0.06 | 0 ~ 1k 0.05 [< 0.05 [< 0.056] 0 7 1] 0.05 [< 0.05 [< 0.06] 0 / 1
KUE K OZOED 1.0 » < 0.02 [< 0.02 [< 0.02] 0 ~ 1]« 0.02 [< 0.02 [< 0.02] 0 ~ 1] 0.02 [< 0.02 [< 0.02] 0 7 1
PUMEAL IR S 0.002 1 < 0.0002 [< 0.0002 [< 0.0002 | 0 ~ 1k 0.0002 [< 0.0002 [< 0.0002] 0/ 1[K 0.0002 [< 0.0002 [< 0.0002| 0 7 1
1,4-UA %Y 0.05 n < 0.005 [< 0.005 [< 0.005[ 0 / 1]« 0.005 [< 0.005 [< 0.005[ 0 / 1] 0.005 [< 0.005 [< 0.006 | 0 7 1
v A-1,2-V ezl KON

My A-1,2-Y yupxFLy 0.04 n < 0.0002 |< 0.0002 |< 0.0002| 0 ~ 1k 0.0002 |< 0.0002 |< 0.0002] 0 7 1 0.0004 0.0004 0.0004| 0 7 1
DA% 0.02 _n < 0.0002 [< 0.0002 [< 0.0002] 0 7 1] 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1] 0.0002 [< 0.0002 [< 0.0002] 0~ 1
FrF7uuTFL 0.0l _» 0.0013 0.0009 0.0011] 0 / 4 0.0028 0.0024 0.0026 | 0/ 4 0.0008 0.0007 0.0008| 0 ~ 4
Koozl 0.0 » 0.0004 0.0003 0.0004] 0 ~ 4 0.0005 0.0004 0.0005] 0 7 4 0.0007 0.0006 0.0007 | 0/ 4
NP 0.0l _» < 0.0002 [< 0.0002 [< 0.0002] 0~ 1< 0.0002 [< 0.0002 [< 0.0002] 0 / 1[K 0.0002 [< 0.0002 [< 0.0002] 0 7 1
HFEER 0.6 < 0.06 < 0.06 < 0.06] 0 7 4] 0.06 [< 0.06 [< 006 0 7 4]< 0.06 [< 0.06 [< 0.06| 0 7 4
VA 0.02 _n < 0.002 [< 0.002 [< 0.002] 0~ 4] 0.002 [< 0.002 [< 0002 0 / 4] 0.002 [< 0.002 [< 0.002{ 0 / 4
JangiL 0.06 7 0.002 [< 0.001 0.001[ 0 / 4 0.003 0.002 0.002[ 0 / 4 0.002 0.001 0.002] 0 / 4
A== 3 0.03__n < 0.003 [< 0.003 [< 0.003[ 0 / 4]« 0.003 [< 0.003 [< 0.003[ 0 / 4 0.003 [< 0.003 [< 0.003{ 0 / 4
DA A= 0.1 < 0.001 [< 0.001 [< 0.001 [ 0 / 4]« 0.001 [< 0.001 [< 0001 0 / 4K 0.001 [< 0.001 [< 0.001[ 0 / 4
e 0.0l _» < 0.001 [< 0.001 [< 0001 0 / 4K 0.001 [< 0.001 [ 0.001{ 0 / 4] 0.001 [ 0.001 [< 0.001{ 0 / 4
KahU g AX 0.1 » 0.002 [< 0.001 0.001[ 0 / 4 0.003 0.002 0.002[ 0 / 4 0.002 0.001 0.002] 0 / 4
K7 ooz 0.03 < 0.003 [< 0.003 [< 0.003] 0 / 4 0.003 [< 0.003 [< 0.003] 0/ 4]« 0.003 [< 0.003 [< 0.003] 0 / 4
TR /anurF 0.03 7 < 0.001 [< 0.001 [< 0.001 [ 0 / 4]« 0.001 [< 0.001 [< 0001 0 / 4] 0.001 [< 0.001 [< 0.001[ 0 / 4
T HER/LL 0.09 ” < 0.001 [< 0.001 [< 0.001[ 0 / 4]« 0.001 [< 0.001 [< 0.001{ 0 / 4] 0.001 [< 0.001 [< 0.001{ 0 / 4
ARILLT LT ER 0.08 7 < 0.008 [< 0.008 [< 0.008[ 0/ 4]« 0.008 [< 0.008 [< 0.008] 0/ 4] 0.008 [< 0.008 [< 0.0081 0/ 4
Wen &k O DILEW) 1.0 » < 0.01 [< 0.01 [< 0010 ~ 1] 0.01 [< 0.01 [< 0.01] 0 7 1] 0.01 [< 0.01 [< 0010 7/ 1
TINI=U LK OPZTDEW 0.2 < 0.02 [< 0.02 < 0.02] 0 ~ 1< 0.02 [< 0.02 [< 0.02] 0 ~ 1] 0.02 [< 0.02 [< 0.02] 0 ~ 1
K NZEDILEY 0.3 < 0.03 [< 0.03 [< 0.03] 0 ~ 1]« 0.03 [< 0.03 [< 0.03] 0 7 1] 0.03 [< 0.03 [< 0.03] 0 /1
LKL DILED 1.0 » < 0.01 [< 0.01 < 001] 0 7 1[¢ 0.01 [< 0.01 [< 0010 7 1] 0.01 [< 0.01 [< 0010 /1
FRIT LK OZFDILEY) 200 8.4 8.4 840 /1 7.0 7.0 7.0l 0 7 1 7.3 7.3 730 /1
~ A ROEDILED 0.05 _n < 0.005 [< 0.005 [< 0.005 [ 0/ 1]« 0.005 [< 0.005 [< 0.005[ 0 / 1] 0.005 [< 0.005 [< 0.005| 0 / 1
T A4 200 7.9 7.3 7.6 0 712 8.3 75 7910 712 13.2 12.0 12710 712
TV e~ 7 X KGR [300 0 109 102 105] 0 / 4 105 103 1041 0 7 4 131 126 129] 0 / 4
ZEIE TR 500 ” 182 168 17310 / 4 188 170 180 0 ~ 4 222 199 2121 0 7 4
R L eval 0.2 ] < 0.02 [< 0.02 [< 0.02] 0 7 1< 0.02 [< 0.02 [< 0.02] 0 ~ 1]« 0.02 [< 0.02 [< 0021 0 7 1
VA AI 0.00001 7 J<  0.000001 [<  0.000001 [<  0.000001 [ 0~ 1]<  0.000001 [<  0.000001 [<  0.000001 [ 0  1]<  0.000001 [<  0.000001 [<  0.000001] 0 ~ 1
2—AFNAYFRL A —/LMIB) [0.00001 # [< 0.000001 [<  0.000001 [<  0.000001 [ 0 7 1]<  0.000001 [<  0.000001 [<  0.000001 | 0 ~ 1]<  0.000001 [<  0.000001 [<  0.000001 ] 0 / 1
FEA A TG A 0.02 7 < 0.002 [< 0.002 [< 0.002] 0 / 1| 0.002 [< 0.002 [< 0.002] 0 / 1< 0.002 [< 0.002 [< 0.002| 0 / 1
7= /—)VE 0.005 1 < 0.0005 [< 0.0005 [< 0.0005] 0~ 1]« 0.0005 [< 0.0005 [< 0.0005] 0 ~ 1< 0.0005 [< 0.0005 [< 0.0005| 0~ 1
A EAWRFTOC)DR) |3 » 0.3 [< 0.2 02l 0 12K 0.2 [< 0.2 [< 02 0 712K 0.2 [< 0.2 [< 0210 712
pH{E 5.8~8.6 7.1 6.8 6.9 0 712 7.1 6.8 690 712 7.1 6.8 6910 712
IS BHETRNIL BEeL BEeL Bl o 12 LiYivD LiYiANG Bl 0 12 HETL HERL el 0 /12
B " AL Hiel mEnLl 0 12 [N H L manLl o 12 FEEAL FEEAL BEaLl 0 12
(=) 5% < 0.5 < 0.5 [< 05[]0 712 0.5 |< 0.5 [< 0510 712 0.5 |< 0.5 [< 0.5] 0 712
B 2% < 0.1 [ 0.1 < 0.1 0 ~12[ 0.1 [< 0.1 [< 0.1] 0 /12K 0.1 [< 0.1 [< 0.1 0 /12
e S 2 B A - 0 0 olo o 0 0 0lo /o 0 0 olo o
1B S 2R A L1200 LA F (47 72) 1 0 ol o 3 6 0 2ol o / 3 7 0 410 / 3
WeBfErR R 37 0.1mg/0LL b 0.4 0.3 03[0 712 0.4 0.3 03[0 /12 0.3 0.2 03[0 /12
FE5URE R mS/m 25.8 24.7 25.4 12 24.8 24.2 24.6 12 30.3 29.1 29.8 12
ERE °C 19.4 15.9 17.7 12 18.9 16.0 17.7 12 18.7 15.0 17.2 12
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SEE Kk H L7 I S < N S

i X 40 7 fk R (#7K) JERTR (FK) PR (#7K) KEHR G8K) A R (1K)

o > ' R e T E - TR A - 2R T - AR - W25 A2 S - 7 R S P S A IR RSB F -/ MATL ONEO N TR i R &
MRAEE g%*%{ﬂi RRME | B/ME | CESE | B B | BOKE | RME | CESE | R B | ROKE | RAME | CFEEE BRE | RME | CEAE RRME | B/ME | CFSE

[ON-Z2A

— A B 1004 /ml 0 0 0lo0 712 0 0 olo 712 0 0 0lo0 712 0 0 0l0 /12 0 0 olo 712
KIGEE BHERRNZE g g T 0 /12 Al N Aig] 0 /12 A A AR 0 12 N Al A 0 /12 At At A 0 /12
HEIT LR OZ DAY [0.003 mg/1 < 0.0003 < 0.0003 [< 0.0003 ] 0~ 1)< 0.0003 [< 0.0003 < 0.0003 ] 0 ~ 1]< 0.0003 < 0.0003 [< 0.0003] 0 ~ 1]< 0.0003 [< 0.0003 |< 0.0003 | 0 ~ 1]< 0.0003 [< 0.0003 [< 0.0003]| 0 / 1
KEBM NEDILEY) 0.0005 7 |< 0.00005 [< 0.00005 |< 0.00005 | 0 1< 0.00005 |[< 0.00005 [< 0.00005 | 0 1 ]< 0.00005 [< 0.00005 |[< 0.00005 | 0 1 |< 0.00005 |< 0.00005 [< 0.00005 | 0 ~ 1)< 0.00005 [< 0.00005 |< 0.00005 | 0 / 1
L ROZEDOEY  [0.01 v J< 0.001 < 0.001 |<  0.001] 0 ~ 1]<  0.001 < 0.001[< 0.001] 0 1]<  0.001[< 0.001 < 0.001]0 7 1J< 0.001 < 0.001[< 0.001]0 ~ 1)< 0.001[< 0.001]|< 00010 7 1
RO EY 0.00 _n < 0.001[< 0.001]< 0.001]0 / 1]<  0.001 < 0.001[< 0.001]0 ~ 1)< 0.001[< 0.001]< 00010 / 1J]< 0.001]< 0.001[< 0.001] 0 ~ 1)< 0.001[< 0.001]< 00010 7 1
EE B OZDEY 0.01 _n < 0.001[< 0.001]< 00010 / 1]<  0.001 < 0.001[< 0.001]0 ~ 1]< 0.001[< 0.001]< 00010 / 1J]< 0.001]< 0.001[< 0.001] 0~ 1)< 0.001[< 0.001|< 00010 7 1
IN A=y ] 0.05  n < 0.002[<  0.002]< 0.002]0 / 1]<  0.002< 0.002[< 0.002] 0 ~ 1)< 0.002[<  0.002]< 0.002]0 / 1]< 0.002]< 0.002[< 0.002] 0 ~ 1)< 0.002[< 0.002]< 0.002]0 7 1
A iR e 4 S 0.04 n < 0.004[<  0.004]< 0.004] 0 / 1]<  0.004 < 0.004[<  0.004] 0 ~ 1)< 0.004[<  0.004 < 0.004] 0  1]<  0.004 < 0.004[<  0.004] 0 ~ 1)< 0.004[<  0.004 < 0.004]0 / 1
ST A T Oy 710,01 < 0.001 |< 0.001 (< 0.001] 0 ~ 4]< 0.001[< 0.001 < 00010 ~ 4f<  0.001 < 0.001[< 0.001]0 7 4]< 0001[< 0.001]< 00010/ 4J<  0.001 < 0.001[< 0.001]0 7 4
TRAHEZE S R OV REZE SR |10 0 4.94 4.22 450 | 0 /12 4.83 4.23 45210 /12 4.94 4.10 44510 /12 4.71 4.08 43510 /12 5.74 5.06 5290 /12
TIRKOEDOEY 08 v < 0.05 |< 0.05 |< 0051 0 / 1f 0.05 |< 0.05 |< 00510 / 1[¢ 0.05 [< 0.05 |< 0050 / 1< 0.05 |< 0.05 |< 0050 / 1[< 0.05 |< 0.05 |< 0050 / 1
RYFEMOZEOEY 1.0 » < 0.02 |< 0.02 |< 0,021 0 / 1| 0.02 |< 0.02 |< 00210 / 1[¢ 0.02 [< 0.02 |< 00210 / 1 0.02 |< 0.02 |< 0020 / 1[¢ 0.02 |< 0.02 |< 0020 / 1
DU b e 0.002_1 <_0.0002 [<_0.0002 < 0.0002 | 0 1]< 0.0002 |< 0.0002 [< 0.0002 | 0 ~ 1]< 0.0002 [<  0.0002 [< 0.0002 [ 0 / 1]< 0.0002 [< 0.0002 [< 0.0002 | 0 ~ 1)< 0.0002 [< 0.0002 |< 0.0002 ] 0 / 1
1,4-VAFY 0.05  n < 0.005[< 0.005]< 0.005] 0 / 1]<  0.005]< 0.005[< 0.005] 0 ~ 1)< 0.005[< 0.005]|< 0.005] 0 / 1]<  0.005]< 0.005[< 0.0056] 0 ~ 1)< 0.005[< 0.005|< 0.005]0 / 1
v A-1,2-Y " ansFly J O
bV A-1,2-3 yunz Ly 0.04 n < 0.0002 [< 0.0002 < 0.0002 ] 0 ~/ 1< 0.0002 < 0.0002 [< 0.0002] 0 ~ 1)< 0.0002 [< 0.0002 < 0.0002 | 0 ~ 1< 0.0002 |< 0.0002 [< 0.0002]| 0 / 1 0.0004 0.0004 0.0004 | 0~ 1
DA=1=5.Y % 0.02 _n < 0.0002 [< 0.0002 < 0.0002 ] 0 ~ 1< 0.0002 < 0.0002 [< 0.0002 ] 0 ~ 1)< 0.0002 [< 0.0002 < 0.0002 | 0 ~ 1< 0.0002 |< 0.0002 [< 0.0002] 0 ~ 1)< 0.0002 [< 0.0002 |< 0.0002 |0 / 1
FhIroazFL 0.01 __» 0.0012 0.0009 0.0010 | 0 / 4 0.0013 0.0009 0.0011] 0 / 4 0.0012 0.0008 0.0010 | 0 / 4 0.0013 0.0009 0.0011|0 / 4 0.0007 0.0006 0.0006 | 0/ 4
NZopzFL 0.01 __» 0.0003 0.0003 0.0003 | 0 / 4 0.0003 0.0003 0.0003 | 0 / 4 0.0003 0.0003 0.0003| 0 / 4 0.0004 0.0003 0.0004 [ 0~ 4 0.0006 0.0005 0.0006 | 0/ 4
Py 0.01 _» < 0.0002 < 0.0002 < 0.0002 ] 0 ~ 1< 0.0002 < 0.0002 [< 0.0002] 0 ~ 1)< 0.0002 [< 0.0002 < 0.0002 | 0 ~ 1< 0.0002 < 0.0002 < 0.0002] 0 ~ 1)< 0.0002 [< 0.0002 |< 0.0002 |0 / 1
e 06 < 0.06 |< 0.06 |< 006 0 / 4]« 0.06 |< 0.06 |< 0060 / 4« 0.06 [< 0.06 |< 00610 7 4 0.06 |< 0.06 |< 00610/ 4l 0.06 |< 0.06 |< 0060 / 4
A=1=1 373 002 n < 0.002[< 0.002]< 0002]0 / 4]< 0.002]<  0.002[< 0.002] 0 4l<  0002[< 0.002]< 0002][0 / 4J<  0.002]<  0.002[<  0.002] 0 ~ 4f<  0.002[<  0.002]< 0002]|0 / 4
VASI=0 V)N 0.06 0.001 [<  0.001 0.001 0 / 4 0.001 [<  0.001 0.001[0 / 4 0.001 [<_0.001 0.001 |0 / 4 0.001 [<  0.001 0.001[0 / 4 0.003 0.001 00020 / 4
DaZA=1=1 373 003 n < 0.003[< 0.003]< 00030 / 4]< 0.003]|<  0.003[< 0.003] 0 4]< 0003[<  0.003]<  0003[0 / 4J<  0.003]< 0.003[<  0.003] 0 ~ 4f<  0.003[<  0.003]< 00030 / 4
DA VA=1=5. N 0.1 < 0.001]< 0.001 )< 0.001]0 7 4J< 0.001|<  0.001[< 0.001]0 7 4]< 0.001[< 0.001|<  0.001]0 7 4f< 0.001|<  0.001[< 0.001]0 7 4]< 0.001[< 0.001|< 0.001]0 / 4
s 001 n < 0.001f< 0.001]< 0001]0 / 4J< 0.001]<  0.001f< 0.001] 0  4]< 0001[< 0.001]< 00010/ 4J<  0.001]<  0001[< 0.001]0 7 4f< 0001 [<  0.001]< 00010 / 4
AN =Y. 0.1 0.001 [<  0.001 0.001 0 / 4 0.001 [<  0.001 0.001 [0 / 4 0.001 [<_ 0.001 0.001 |0 / 4 0.001 [<  0.001 0.001[0 / 4 0.003 0.001 00020 / 4
[WZA=d=i]H 003 » < 0003[<  0.003]< 00030  4]<  0.003]|<  0.003[< 0.003] 0 4]< 0003[<  0.003]<  0003[0  4J<  0.003]< 0.003[<  0.003] 0 ~ 4f<  0.003[<  0.003]< 00030 / 4
PA=S S A=1=5. Y N 003 n < 0.001f< 0.001]< 0001]0 ~ 4)< 0.001]<  0001f< 0.001]0  4]< 0001[< 0.001]< 00010/ 4J<  0.001]<  0001[< 0.000] 0  4f< 0001 [<  0.001[< 0001]|0 / 4
7 OER/LL 009 n < 0001f< 0.001]< 0001]0 ~ 4]< 0.001]<  0001f< 0.001] 0 4]< 0001[< 0.001]< 00010/ 4J<  0.001]<  0001[< 0.001]0 7 4f< 0001 [<  0.001[< 0001]|0  4
AV LT VT ER 008 n < 0.008[< 0.008]< 0.008]0 / 4]< 0.008]< 0.008[< 0.008] 0 ~ 4]<  0008[< 0.008< 0008[0  4J< 0.008]< 0.008[< 0.008] 0  4f<  0.008[< 0.008]< 0008|0 / 4
HEh N DB 1.0 < 0.01 [< 0.01 [< 0010 7 1]¢ 0.01 [< 0.01 [< 0010 7~ 1[¢ 0.01 < 0.01 [< 00110 7 1[ 0.01 [< 0.01 [< 00110 7 1]¢ 0.01 < 0.01 < 00110 7 1
TNI=D L OEOEY[0.2  » < 0.02 |< 0.02 |< 00210 / 1) 0.02 |< 0.02 |< 00210/ 1) 0.02 [< 0.02 |< 00210~ 1) 0.02 |< 0.02 |< 00210 / 1f 0.02 |< 0.02 |< 0020 / 1
RO ED 03 < 0.03 |< 0.03 |< 0030 7 1]¢ 0.03 [< 0.03 [< 0030 7 1[¢ 0.03 |< 0.03 [< 00310 ~ 1[ 0.03 [< 0.03 [< 0030 7 1]¢ 0.03 < 0.03 < 003/ 0 7 1
8 OB 1.0 < 0.01 [< 0.01 [< 0010 7 1]¢ 0.01 [< 0.01 [< 0010 7~ 1[¢ 0.01 < 0.01 [< 00110 7 1[ 0.01 [< 0.01 [< 00110 7 1]¢ 0.01 < 0.01 < 00110 7 1
FTRIT LR OO E [200  » 8.7 8.7 8710 /1 8.5 8.5 85[0 7 1 8.6 8.6 8610 / 1 8.0 8.0 80[0 /1 7.3 7.3 7310 /1
<~ L ROZFDAE 1005 v |<  0.005 [< 0.005 [< 0.005] 0 ~ 1J<_ 0.005[<  0.005]|< 0005 0 ~ 1J<  0.005[< 0.005]< 0.005] 0 ~ 10<  0.005|< 0.005]< 0.005 [ 0 ~ 1< 0.005|<  0.005[< 0.005| 0 / 1
kA 200 » 8.0 7.3 7610 /12 7.9 7.3 7610 712 7.9 7.3 7510 /12 7.9 7.3 76|10 /12 13.2 12.3 12810 712
T B Ry NEGIE) 300 1 111 106 1090/ 4 111 107 1090/ 4 108 105 1070/ 4 110 106 08|07 4 128 125 126 0 / 4
FRIRTREWY) 500 192 172 1830 / 4 188 183 18510 / 4 190 182 1860 / 4 186 182 18410 / 4 222 206 2161 0 / 4
B A A S TGP A 0.2 [ S 0.02 |< 0.02 |< 00210/ 1]¢ 0.02 [< 0.02 [< 0.02]0 / 1) 0.02 [< 0.02 [< 00210~ 1) 0.02 [< 0.02 [< 00210 7 1]¢ 0.02 < 0.02 |< 00210 7 1
CrA RIS 0.00001 _#_]<0.000001 [<0.000001 |<0.000001 | 0 1<0.000001 |<0.000001 [<0.000001 | 0 1 ]<0.000001 [<0.000001 |<0.000001 [ 0 1 }<0.000001 |<0.000001 [<0.000001 | 0 1 ]<0.000001 [<0.000001 |<0.000001 | 0 / 1
2 AF A AL FA—AMIB) 0.00001 »_|<0.000001 |<0.000001 [<0.000001 | 0 1 ]<0.000001 [<0.000001 |<0.000001 [ 0~ 1]<0.000001 |<0.000001 [<0.000001 | 0 1 ]<0.000001 [<0.000001 |<0.000001 [ 0 .~ 1]<0.000001 |<0.000001 [<0.000001 | 0 / 1
FEA A T 0.02  » J<  0.002]<  0.002 < 0.002] 0 7 1)< 0.002]< 0.002[< 0002]0 7 1)< 0.002[<  0.002[< 0002]0 / 1] 0.002[< 0.002]< 0002]0 7 1< 0.002[<  0.002]< 0.002][0 7 1
Zx/)—)VHH 0.005_ 1 <_0.0005 < 0.0005 < 0.0005 [ 0 / 1]< 0.0005 |< 0.0005 [< 0.0005]| 0 < 0.0005 [<_0.0005 [<  0.0005 | 0 <_0.0005 < 0.0005 < 0.0005 [ 0 . 1< 0.0005 [< 0.0005 [< 0.0005| 0
A EARRFTOODR) |3 < 0.2 < 0.2 < 0210 7 12]< 0.2 |< 0.2 |< 020 ~ 0.2 [< 0.2 020 / < 0.2 |< 0.2 |< 020 12| 0.2 |< 0.2 |< 0210 ~
| pH{EL 5.8~8.6 7.2 6.9 7.0l 0 /12 7.0 6.8 69|10 7.0 6.7 690 7 7.1 6.8 7010 /12 7.2 6.9 7.0l 0 /
IS Y ne/ A FzRLl SEZRLL O REZRLI 0 S 12) FEAel]| BElel]| BEllL| 0 S FazRLl REZRLL O REZRLI 0 S HEZRLL O SEZRL] O BEARL 0 S 12] FEARL| REARL| RERL| 0 S
R " Begpzal] EEAL| REALI 0 2] REALl EEAL| REaLl o0 S Bl WEAeL| HEeL| 0 S FEselL| WEeLl O REARL| 0 S 12] BEAL| O RERL| BEAeLl o0 S
o 5/ < 0.5 |< 0.5 |< 0510 7 12]< 0.5 |< 0.5 |< 05|10/ < 0.5 |< 0.5 |< 05|10/ < 0.5 |< 0.5 |< 050 7 12|< 0.5 |< 0.5 |< 050 7
B 20 < 0.1 < 0.1 < 0.1 0 7 12]< 0.1 |< 0.1 |< 010 ~ < 0.1 < 0.1 < 0.1l0 / < 0.1 |< 0.1 |< 010 /12 0.1 < 0.1 < 0.1l0 /
e 2 - 0/ 0 0o/ 0o/ 0/ 0 0o/
TE IR A HE A B Il I=2000 B BT ) 360 9 14510 / 3 24 9 6l0 / 2 0 1lo/ 11 0 500 3 5 0 310/
WEBE R R YR R 0.1mg/0LLk | 0.3 0.2 020 /12 0.3 0.2 030 ~ 0.3 0.3 0310/ 0.3 0.2 03[0 /12 0.3 0.3 03[0/
B RURE AR mS/m 26.9 25.6 26.4 12 26.9 26.1 26.4 12 26.4 25.5 25.9 12 26.5 25.7 26.1 12 29.8 28.9 29.4 12
Kl C 26.0 14.9 19.5 12 26.8 12.8 19.0 12 26.6 15.6 18.7 12 22.7 15.0 18.5 12 20.2 14.2 17.2 12

I, EVERB R AR &2,




SR2EE K " R’ OB E S
JEK) KB BN ARD DA T H 1200 H (LK)
EPES
KR 552 7K IR H3KIR 25 37K IR EHF3EH EHATEH I FTE I fic /K 4 BT

Pt FHRI & O 10] 101 10 12J] 10 10] 121 10]

20 20 H 20H 14 H 20H 20 H 14H 20 H
7 I R OE DAY 0.02mg/1L4 F|< 0.002 < 0.002 0.002 0.002 |< 0.002 0.002
IR OZDIAY 0.002mg/ILA F(HF )< 0.0002 |< 0.0002 0.0002 0.0002 |< 0.0002 0.0002
= VR OE DAY 0.02mg/1EL F|< 0.002 < 0.002 0.002 0.002 |< 0.002 0.002
1.2-v" oy 0.004mg/1LL F|< 0.0004 |< 0.0004 0.0004 0.0004 |< 0.0004 0.0004
fLy 0.4mg/ILLF|< 0.04 |< 0.04 0.04 0.04 |< 0.04 0.04
TNV Q-TFNnFYN) 0.08mg/1LL F|< 0.008 |« 0.008 0.008 0.008 |< 0.008 0.008
AR R 20mg/IA T 26 30 26 27 24 29
L,1,1-N/mozsy 0.3mg/ILL F|< 0.03 |< 0.03 0.03 0.03 |< 0.03 0.03
AFN =T FNT—F I 0.02mg/1LL F|< 0.002 |« 0.002 0.002 0.002 |< 0.002 0.002
B S CR o )y A 2 ) 3mg/1LL T 0.6 |« 0.3 0.6 1.0 0.3 0.4
TE RS FE N 2,0000L F 16 3 7 3 2 15
L1-YZaaxFLy 0.1mg/ILL F|< 0.01 |< 0.01 0.01 0.01 |< 0.01 0.01

AUV A ag g B AR ER(PROS)

J LT VA A s 2 TR(PROA) 0.00005mg /14 F 0.000033 0.000044 0.000079 0.000061 0.000032 0.000035 0.000030 0.000033
KR C 17.5 17.0 17.0 16.0 19.3 17.0 15.7 19.4




SF2EE Kk EH R TS
(5 K) IREEAR AR DD RATE H 1678 H (L%
FEARAS FRAR S JE SR A ko R SR R KGR FEREAS FLRAHE | FRAAS R
ERLK S 2lA K Fic K 45 fic k5 BRI B ARG AR BRI EARIEKER BRI BRI
RAE H FI A fiE R OVBRAL
10H 104 10H 124 104 104 104 10H 104 124
21H 21H 21H 14H 21H 21H 21H 21H 21H 14 H

TVFE B O DALE Y 0.02mg/124 F|< 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002
VI M OEDILEY 0.002mg/124 F (8 53)|< 0.0002 0.0002 0.0002 0.0002 0.0002 0.0002 0.0002 0.0002
=TIV OZDILEY 0.02mg/1IA F|< 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002
1,2-V'/apxhy 0.004mg/124 F|< 0.0004 0.0004 0.0004 0.0004 0.0004 0.0004 0.0004 0.0004
[ 0.4mg/I1LL F < 0.04 0.04 0.04 0.04 0.04 0.04 0.04 0.04
T HIVERY Q-TF A U) 0.08mg/1LL F|< 0.008 0.008 0.008 0.008 0.008 0.008 0.008 0.008
Y a7 vh=p Y 0.01mg/IA F(# ) |< 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
K yn5—1 0.02mg/IPL F (855 |< 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002
W R P 20mg/ILLF 18 18 23 20 23 20 22 22
1,1,1-bF/ppzsy 0.3mg/ILL F|< 0.03 0.03 0.03 0.03 0.03 0.03 0.03 0.03
AFN =T FIVI—=TF IV 0.02mg/1LL F|< 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002
AW Gl 0 B h ) A 2 ) 3mg/ILFIK 0.3 0.3 0.3 0.6 0.5 0.3 0.6 0.3
B GRE (TON) SELLT|C 1 1 1 1 1 1 1 1
JEE ek —URRELL R,
GurTiE ) B 0IE S5 -1.3 -1.3 -1.1 -1.1 -1.1 -1.2 -1.1 -1.1
TE IR A A B 2,00024 F 0 0 0 12 103 2 5 2
1,1-v/oazfly 0.1mg/ILL FIK 0.01 0.01 0.01 0.01 0.01 0.01 0.01 0.01
W BE Y SR 0.1mg/124 1= 0.4 0.3 0.3 0.3 0.2 0.3 0.3 0.3
AT FaF I B ZLRATE(PFOS) P
T OV 7 Lt at s # L E(PFOA) 0.00005mg/ILL F 0.000036 0.000037 0.000068 0.000045 0.000031 0.000038 0.000029 0.000029 0.000063 0.000041
KR C 17.8 17.4 17.2 14.6 20.3 20.4 18.5 19.1 17.7 14.9
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